NZ Support: Australia Support:

nn a sre H \ P: 0800 683 352 P:1800 769 577

E: sales@utemaster.conz E: sales@utemaster.com.au
W:www.utemaster.conz  W: www.utemaster.com.au

Lid Lift Kit to suit Extended Sports Bar Load-Lid

70909-100-E
70909-200-E
Despatch List:
ID# DESCRIPTION IMAGE QrTy
1 Lift Kit Subassembly LH % 1x
Lift Kit Subassembly RH < 1x
5 Strut SR 5
. X
(100 or 200) ~ o .
° Fitting Time:
3 M8 Ball Stud 2 .
atl >t X 30 mins
4 M8 Nyloc Nuts 2x
5 M6 x 16mm Btn Bolts ﬁ?@f@@ 4x
6 M6 Nyloc Nuts 4x

Install the ball stud to
the pre-cut holes in
the side plates on
each side, using the
following fasteners:

3) M8 Ball Studs
4) M8 Nyloc Nuts

Repeat for both sides.

NOTE: Style of Load-Lid
and position of
ball stud hole may differ
slightly depending on
the vehicle model

© Copyright Utemaster NZ Ltd. 1



EE vasTer)

NZ Support:

P: 0800 683 352

E: sales@utemaster.co.nz
W www.utemaster.co.nz

)

Australia Support:

P:1800 769 577

E: sales@utemaster.com.au
W www.utemaster.com.au

Sit the Lift Kit brackets
in position on the
underside of the

Load-Lid.

Position the brackets
sitting over the
RHS extrusion, with
the ball stud at the
handle (rear) end of
the Load-Lid.

The curve of the
Lift Kit bracket should
straddle the Load-Lid

gas strut bracket (A).

\.

Mark the hole positions
with a marker.

Remove the brackets

and drill through the

marks with a 6.5mm
drill bit.

Repeat for both sides.

© Copyright Utemaster NZ Ltd.



EE vasTer)

NZ Support:

P: 0800 683 352

E: sales@utemaster.co.nz
W www.utemaster.co.nz

Australia Support:
P: 1800 769 577

E: sales@utemaster.com.au
W: www.utemaster.com.au

Rivet the Lift Kit
brackets in place using
the following fasteners:

5) M6 x 16mm Btn Bolts
6) M6 Nyloc Nuts

Connect the smaller
end of the strut to
the ball stud.

Clip in place using the
strap and dome stud.

Repeat for the
opposite side.

© Copyright Utemaster NZ Ltd.

)




